bl = B & # X B L
AL TREMER IR AR IR IREEER
SHTE | HH6E R | SFTE | SH6E R | SFTE | SF6E R | SFTE | SF6E WE | SFTE | SF6E R | HFTE | SF6E R
B T # #%| 3,066 2,651 415 1,400 1,163 237 45.7 43.9 1.8 28 21 7 28 20 8 100.0 95.2 4.8
54 o 1,512 1,355 157 654 514 140 43.3 37.9 5.4 15 10 5 15 8 7 100.0 80.0 20.0
5 bt 873 792 81 376 291 85 43.1 36.7 6.4 9 4 5 9 3 6 100.0 75.0 25.0
5 bHhX 209 177 32 87 64 23 41.6 36.2 5.4 4 2 2 4 1 3 100.0 50.0 50.0
5 bHEK 79 106 -27 42 49 -7 53.2 46.2 7.0 1 1 1 1 100.0 - 100.0
SbmK 351 280 71 149 110 39 425 39.3 3.2 1 4 -3 1 4 -3 100.0 100.0
B2 % b 828 610 218 348 267 81 42.0 43.8 -1.8 6 3 3 6 3 3 100.0 100.0
b= ST ) 149 99 50 85 84 1 57.0 84.8 -27.8 1 1 1 1 100.0 100.0
E - 65 74 -9 25 23 2 38.5 31.1 7.4 2 2 2 1 1 100.0 - 100.0
£ ® W 51 71 -20 20 28 -8 39.2 39.4 -0.2 1 -1 1 -1 - 100.0 | -100.0
F R 0™ 22 44 -22 11 29 -18 50.0 65.9 -15.9 1 -1 1 -1 - 100.0 | -100.0
F S ) 77 64 13 46 32 14 59.7 50.0 9.7 - -
5 2 W 18 13 5 12 7 5 66.7 53.8 12.9 - -
R W 6 13 -7 4 7 -3 66.7 53.8 12.9 - -
5 &1 31 33 -2 6 24 -18 19.4 72.7 -53.3 1 -1 1 -1 - 100.0 | -100.0
wmE AN W 62 35 27 32 18 14 51.6 51.4 0.2 1 -1 1 -1 - 100.0 | -100.0
~ B W 31 44 -13 21 23 -2 67.7 52.3 15.4 1 1 1 1 100.0 - 100.0
2 E # 29 32 -3 13 25 -12 44.8 78.1 -33.3 - -
£ fF 0wW 23 10 13 11 6 5 47.8 60.0 -12.2 - -
b= R 54 42 12 15 19 -4 27.8 45.2 -17.4 1 -1 1 -1 - 100.0 | -100.0
R AR AT 9 17 -8 2 6 -4 22.2 35.3 -13.1 1 -1 1 -1 - 100.0 | -100.0
WEME S HT 10 15 -5 7 5 2 70.0 33.3 36.7 - -
& O ER Bk |y 6 14 -8 9 8 150.0 57.1 92.9 - -
NNy N i) 13 11 2 5 10 -5 38.5 90.9 -52.4 - -
B E B EA - - -
& M R 5E B Ay 4 7 -3 2 4 -2 50.0 57.1 -7.1 - -
P FH AR B o0 T 16 9 7 13 4 9 81.3 44.4 36.9 - -
f FH AR 5 % HT 1 2 -1 3 -3 150.0 -150.0 - -
EHEFEERN - - -
AKEBAKFGHET 5 1 4 1 80.0 100.0 -20.0 - -
A K BB 3% K ET 11 4 7 2 63.6 50.0 13.6 1 1 1 1 100.0 - 100.0
NS BB 2 o SR T 2 4 -2 4 4 200.0 100.0 100.0 1 -1 1 -1 - 100.0 | -100.0
TEH RN 31 28 3 44 10 34 141.9 35.7 106.2 2 2 2 2 100.0 - 100.0




izl E e % & L
AL TREMER IR AR IR IREEER
SHTE | HH6E R | SFTE | SH6E R | SFTE | SF6E R | SFTE | SF6E WE | SFTE | SF6E R | HFTE | SF6E R

B F O K 238 239 -1 225 223 2 94.5 93.3 1.2 2,119 1,807 312 782 627 155 36.9 34.7 2.2
54 (ITI—) 118 112 6 114 102 12 96.6 91.1 5.5 1,065 972 93 374 287 87 35.1 29.5 5.6

5 bt 72 62 10 67 54 13 93.1 87.1 6.0 624 578 46 199 162 37 31.9 28.0 3.9

5 bHhX 10 13 -3 13 9 4 130.0 69.2 60.8 148 130 18 48 40 8 32.4 30.8 1.6

5 bHEK 6 13 -7 5 16 -11 83.3 123.1 -39.8 54 76 -22 25 29 -4 46.3 38.2 8.1

SbmK 30 24 6 29 23 6 96.7 95.8 0.9 239 188 51 102 56 46 42.7 29.8 12.9
B2 2 bl 69 54 15 67 52 15 97.1 96.3 0.8 598 427 171 190 148 42 31.8 34.7 -2.9
b= ST ) 8 14 -6 5 17 -12 62.5 121.4 -58.9 101 63 38 55 36 19 54.5 57.1 -2.6
E - 5 3 2 5 1 4 100.0 33.3 66.7 44 46 -2 10 14 -4 22.7 30.4 7.7
£ ® W 4 6 -2 4 6 -2 100.0 100.0 24 38 -14 10 17 -7 41.7 44.7 -3.0
F R 0™ 2 2 1 2 -1 50.0 100.0 -50.0 14 22 -8 5 8 -3 35.7 36.4 -0.7
F S ) 8 5 3 6 7 -1 75.0 140.0 -65.0 52 41 11 27 16 11 51.9 39.0 12.9
m R W 1 1 4 4 400.0 400.0 13 7 6 5 3 2 38.5 42.9 4.4
R W 2 -2 1 -1 - 50.0 -50.0 4 8 -4 4 3 1 100.0 37.5 62.5
5 &1 2 4 -2 2 -2 50.0 -50.0 12 17 -5 5 15 -10 41.7 88.2 -46.5
wmE AN W 5 5 3 5 -2 60.0 100.0 -40.0 45 24 21 27 11 16 60.0 45.8 14.2
~ B W 4 9 -5 1 6 -5 25.0 66.7 -41.7 17 29 -12 15 17 -2 88.2 58.6 29.6
2 E # 3 3 3 3 100.0 100.0 19 17 2 7 13 -6 36.8 76.5 -39.7
£ fF 0wW 2 1 1 1 3 -2 50.0 300.0 | -250.0 15 7 8 8 2 6 53.3 28.6 24.7
b= R 1 2 -1 1 4 -3 100.0 200.0 | -100.0 46 36 10 12 12 26.1 333 7.2
R AR AT 1 -1 1 2 -1 - 200.0 | -200.0 7 12 -5 1 2 -1 14.3 16.7 -2.4
HMEME S AT 2 -2 2 -2 - 100.0 | -100.0 4 9 -5 3 1 75.0 11.1 63.9
& O ER Bk |y 3 -3 1 2 -1 - 66.7 -66.7 5 8 -3 6 2 4 120.0 25.0 95.0
NNy N i) 1 1 - 12 7 5 5 10 -5 41.7 1429 | -101.2
B E B EA - - - -
& M R 5E B Ay 1 1 1 1 100.0 - 100.0 2 5 -3 3 -3 60.0 -60.0
P FH AR B o0 T 2 2 3 2 1 150.0 100.0 50.0 11 4 7 8 1 7 72.7 25.0 47.7
f FH AR 5 % HT 1 -1 2 -2 - 200.0 -200.0 1 -1 1 -1 - 100.0 -100.0
EHEFEERN - - - -
AKEBBAKFIHET 1 -1 1 -1 - 100.0 -100.0 2 -
A K BB 3% K ET 2 2 2 2 100.0 100.0 5 1 2 1 1 40.0 100.0 -60.0
NS BB 2 o SR T 1 1 - - 2 3 -1 3 2 1 150.0 66.7 83.3
B BNE 4 -4 1 1 - 25.0 -25.0 3 -3 2 -2 - 66.7 -66.7




A B B B & B
AL REHE R AR A REER
SHTE | DHI6FE BB SHTE | DHI6FE HR SHTE | HH6F HR SHTE | HF6F HER SHTE | HH6F #ER SHTE | HHM6E R

B F O# % 256 243 13 100 94 39.1 38.7 0.4 83 45 38 96 30 66 115.7 66.7 49.0
iz b il 113 110 3 38 36 33.6 32.7 0.9 34 14 20 43 14 29 126.5 100.0 26.5

ERCE RS 55 50 5 28 21 50.9 42.0 8.9 21 11 10 30 12 18 142.9 109.1 33.8

IbHK 15 19 -4 6 6 40.0 31.6 8.4 6 6 8 1 7 133.3 - 133.3

S bERK 3 7 -4 2 2 66.7 28.6 38.1 1 1 1 1 100.0 100.0

IHLEKX 40 34 6 2 7 -5 5.0 20.6 -15.6 6 2 4 4 1 3 66.7 50.0 16.7
-y S bl 55 37 18 15 18 -3 27.3 48.6 -21.3 18 20 -2 22 10 12 122.2 50.0 72.2
2 b il 7 4 3 6 3 3 85.7 75.0 10.7 6 2 5 1 83.3 50.0 33.3
x g bl 4 13 -9 1 1 25.0 7.7 17.3 4 4 100.0 - 100.0
kv fif] bl 19 19 4 2 2 21.1 10.5 10.6 1 1
H# R bl 4 17 -13 18 -18 105.9 -105.9 - -
# ba bl 7 2 5 1 1 14.3 14.3 2 1 1 2 2 100.0 100.0
= 2 bl 2 2 1 -1 - 1 1 - -
# R bl 1 1 2 -2 200.0 -200.0 1 -1 1 -1 - 100.0 -100.0
fid E0) bl 6 5 1 3 -3 60.0 -60.0 - -
R A ™ 1 -1 - 2 2 1 1 50.0 - 50.0
Vi e bl 5 2 3 1 1 - -
= BE bl 3 5 -2 2 2 66.7 40.0 26.7 1 4 -3 2 -2 50.0 -50.0
ES 1 bl 2 1 1 1 -1 1 -1 - 100.0 -100.0
% = bil 4 2 2 1 2 -1 25.0 100.0 -75.0 - -
AR A S AT 2 2 - -
WERME S AT 5 4 1 4 2 2 80.0 50.0 30.0 - -
% H AR 2 E ET 1 -1 1 1 - - -
/)N BB & B HY 1 -1 - - -
B [E AR # E Y - - - -
5 BB IR B AT 1 -1 - - -
fs EB BB s SR HT 1 1 1 1 1 1 100.0 - 100.0
F5 H AR % & AT 1 1 - - -
EHEBAEEN - - - -
AKEBAKFGHT 2 2 4 4 200.0 - 200.0 - -
A K BB 3 K HT 1 1 - - -
PN ER & {6 o SR AT - - 1 -1 - -
B RAE 12 14 -2 23 4 19 191.7 28.6 163.1 14 1 13 16 16 114.3 114.3




z 1t 2] il % L
AL REAEL REEER
SIHTE | HI6E R | HFTE | SHI6E R | HMTE | SAI6E HR

B T # 342 296 46 169 169 49.4 57.1 -1.7
[z th Ll 167 137 30 70 67 3 41.9 48.9 -7.0

2 b 92 87 5 43 39 4 46.7 44.8 1.9

YL HK 26 13 13 8 7 1 30.8 53.8 -23.0

b EREKX 14 9 5 8 2 6 57.1 22.2 34.9

YHLEKX 35 28 7 11 19 -8 314 67.9 -36.5
Y-} # o 82 69 13 48 36 12 58.5 52.2 6.3
= th Ll 26 15 11 13 26 -13 50.0 173.3 -123.3
= % bl 6 12 -6 3 6 -3 50.0 50.0
kv fiE) Ll 3 6 -3 2 2 66.7 33.3 33.4
#* = L 2 2 5 5 250.0 250.0
8 #t Ll 8 15 -7 10 9 1 125.0 60.0 65.0
= 2 L 2 5 -3 2 3 -1 100.0 60.0 40.0
wooOR W 1 1
& A L 11 6 1 3 -2 9.1 50.0 -40.9
SR ) 10 4 1 1 10.0 25.0 -15.0
U z L 4 4 3 3 75.0 75.0
=1 Bz w 3 3 1 5 -4 333 166.7 -133.4
=S 1E L 4 2 2 50.0 - 50.0
= = w 3 1 1 1 333 333
AR A S AT 1 -1 1 -1 - 100.0 -100.0
WERME S AT 1 1 -
% O #B B [ A7 1 2 -1 1 4 -3 100.0 200.0 -100.0
/I B BB & Hi BT 3 -3 -
B E BB AT E N - -
& M AR 37 BF A7 1 1 1 1 100.0 100.0
f5 FB AR B o8 T 1 2 -1 1 1 100.0 50.0 50.0
F5 H AR % & AT - -
EHEAFAERN - -
AKEBAKFIHT 1 1 -
A K BB 3 K HT 2 1 1 2 1 1 100.0 100.0
DNEER i o R AT - -
B RAE 3 6 -3 2 3 -1 66.7 50.0 16.7




